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Consider the following statements-

1. In the district, there is the highest criminal court,
district and sessions judge or court.

2. The District Judge is appointed by the Governor after
consulting the High Court.

3. To be eligible for appointment as District Judge, a
person must be an advocate or pleader or an of-
ficer serving in the judicial service of the Union or
State for seven years or more.

4. If the Sessions Judge gives the decision of death
penalty, then its confirmation by the High Court is
mandatory before the death penalty is imposed.

Which of the above statements are correct?
(a) 1 and 2 (b)2,3and 4
(¢)3 and 4 (d)1,2,3and 4

. A retired judge of a High Court cannot:

(a) Practice in the Supreme Court
(b) Practice in any High Court in India
(c) From where he practiced in the High Court

(d) has retired from practice in any court in India

. Consider the following statements with reference to the

judiciary-
1. Due to separation of powers, the legislature and the

executive are not able to interfere in the work of
the judiciary.

2. Due to separation of powers, judges are not able to
stop misuse of powers by the executive and legisla-
ture. Which of the above statements is/are false?

(b) Only 2
(d) Neither 1 nor 2

(a) only 1
(c) Both 1 and 2

. Consider the following statements-

1. India has a unified judicial system.

2. Ifaperson feels that the decision given by the lower
court is not correct then he can appeal to a higher
court.

Which of the above statements is/are false?
(a) only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2
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. Match List-I with List-II and identify correct answer

. Which of the following statements is not correct about

Consider the following statements-

1. Ifatany time the quorum of the judges of that Court
is not sufficient to continue the session of the Su-
preme Court, the Chief Justice of India may, with-
out the previous consent of the President, after con-
sultation with the Chief Justice of the concerned
High Court, appoint a judge of the High Court. Can
request to work temporarily in the Supreme Court.

2. The Chief Justice of India may at any time request
a former judge of the Supreme Court to act as a
judge of the Supreme Court, but the prior consent
of the President is required before doing so. Which
of the above statements is/are not correct?

(b) Only 2
(d) Neither 1 nor 2

(a) only 1
(c) Both 1 and 2

from the codes given below.

List-I1 (Case)

A. AK.Gopalan Vs. 1.
State of Madras

B. Romesh Thapar Vs. 2.
State of Madras

C. Sankari Prasad Vs 3.

List-II (Subject)
Equality in admission to
educational institutions
Parliament's power to
amend the Constitution

Procedure for preventive

Union of India detention

D. Champakam Dorairajan 4. Restrictions on free
Vs State of Madras speech

Code :-
A B C D

@3 4 2 1

b2 4 1 3

04 3 2 1

HIrs G

the Supreme Court?

(a) Under Article 129 and Article 144 of the Constitu-
tion of India, the power to punish for contempt of
court has been vested in the Supreme Court.

(b) Advisory jurisdiction is vested in the Supreme Court.

(c) Ifopinion is sought, the Supreme Court may refuse
to give opinion to the President under certain cir-
cumstances.

(d) The law declared by the Supreme Court is binding
on all courts within the territory of India.
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. Which article of the Indian Constitution deals with the

. Any constitutional amendment law can be declared un-

. Consider the following statements regarding the juris-

. Which of the following statements is incorrect regard-

Consider the following statements-

1. Under the Judges (Inquiry) Bill 2006, it is proposed
to establish a judicial council which will receive
complaints against judges of the Supreme Court,
Chief Justice of the High Court and judges includ-
ing the Chief Justice of India.

2. Under the Protection of Women from Domestic
Violence Act, 2005, a woman can file an applica-
tion before a first class judicial magistrate.

Which of the above statements is/are correct?

(b) Only 2

(d) Neither 1 nor 2

(a)only 1
(c) Both 1 and 2

appellate jurisdiction of the Supreme Court in constitu-
tional disputes?

(a) Article 131
(b) Article 132
(c) Teaching Article 132 by including Article 134-A
(d) Reading Article 134-A together with Article 133

constitutional by the Supreme Court of India if it-

(a) Establishes a three-tier system in place of the
present two-tier system

(b) Removes the right to equality before law from Part
3 and places it elsewhere in the Constitution

(c) Replaces the parliamentary system of executive
with a presidential system

(d) Establishes a federal appellate court to reduce the
burden of the Supreme Court.

diction of the Supreme Court:

1. Article 133 refers to the appellate jurisdiction of
the Supreme Court in criminal cases.

2. A High Court may certify any criminal case to be
heard by the Supreme Court.

3. Thesense of advisory jurisdiction is taken from the
Constitution of the United States.

Which of the statements given above is/are not
correct?

(a) 2 and 3 only
(b) 1 and 3 only
(c) 1 and 2 only
(d) More than one of the above

ing the difference between the writ jurisdiction of the
Supreme Court and the High Courts in India?

1. The Supreme Court can issue writs. Not only in
the matter of enforcing fundamental rights but also
for any other purpose whereas High Court writs
are issued only for enforcing fundamental rights.
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2. High Courts can issue injunction writs whereas the
Supreme Court cannot issue injunctions.

3. The Supreme Court can issue writs only in case of
appeal whereas the High Court can do so only when
the party approaches it.

4. High Courts can issue writs, not only in the matter
of enforcing fundamental rights but also for other
purposes whereas the Supreme Court can issue
writs only to enforce fundamental rights.

(a) 1and 2 (b)1,2and 3
(c)2 and 3 (d)only 4

Transfer of Judges from one High Court to another
can be made by:

(a) The President of India in consultation with the Chief
Justice of that High Court.

(b) Chief Justice of the concerned High Court

(c) The Governor of the concerned State in consulta-
tion with the Chief Justice of India.

(d) The President of India, after consultation with the
Chief Justice of India.

Consider the following statements regarding High Courts
in India:
There are eighteen High Courts in the country.

2. Three of them have jurisdiction over more than one
state.

3. No Union Territory has its own High Court.

High Court judges hold office until the age of 62
years.

Which of the following statements is/are correct?

(a) 1,2 and 4 (b) 2 and 3
(c) 1 and 4 (d)only 4
Which one of the following statements is correct re-

garding Lok Adalats?

(a) Lok Adalats have jurisdiction to dispose of cases
before the filing of a suit and not cases pending in
any court.

(b) Lok Adalats can deal with cases which are civil
and not criminal in nature

(c) Only serving or retired judicial officers can be ap-
pointed in every Lok Adalat, no other person

(d) None of the above statements is correct
Consider the following statements-

1. There is the highest criminal court, district and ses-
sions judge or court in the district.

2. The District Judge is appointed by the Governor in
consultation with the High Court.
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(a) 1and 2 (b)2,3and 4
(c)3and 4 (d)1,2,3and 4
. The Supreme Court of India advises the President on

. With reference to the Indian Judiciary, consider the fol-

. Consider the following statements-

. Statement (A) There is a High Court in the territory of

3. To be eligible for appointment as District Judge, a
person must be an advocate or pleader or an of-
ficer serving in the judicial service of the Union or
State for seven years or more.

4. If the Sessions Judge gives the decision of death
penalty, then its confirmation by the High Court is
mandatory before the death penalty is imposed.

Which of the above statements are correct?

matters of law or fact -

(a) onone's own initiative

(b) only when he asks for such advice

(c) Only when the matter is related to the fundamental
rights of the citizens

(d) Only when the matter poses a threat to the unity
and integrity of the country

lowing statements:

1. Aretired judge of the Supreme Court may be called
by the Chief Justice of India with the prior approval
of the President of India to sit and act as a judge of
the Supreme Court.

2. Any High Court in India has the power to review
its decision, as does the Supreme Court.

Which of the above statements is/are correct?
(a) only 1 (b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

1. The judicial system provides a mechanism for set-
tlement of disputes arising between citizens, be-
tween citizens and governments, between two state
governments and between the central and state
governments.

2. The Supreme Court has the right to interpret the
Constitution.

Which of the above statements is/are true?

(a) only 1 (b) only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

every state in India.

Reason (R) The Constitution of India provides that

every State should have a High Court.

Code

(a) Both A and R are correct and R is the correct ex-
planation of A.

(b) Both A and R are correct, but R is not the correct
explanation of A.

(c) Aiscorrect, but R is wrong.

(d) A is wrong, but R is correct.
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Consider the following statements.

1. According to the Judges (Investigation) Act, 1968,
a proposal to impeach a judge of the Supreme Court

of India cannot be rejected by the Speaker of the
Lok Sabha.

2. The Constitution of India defines and details what
constitutes 'incompetence and proven misconduct'
of judges of the Supreme Court of India.

3. The procedure for impeachment of judges of the
Supreme Court of India is detailed in the Judges
(Inquiry) Act, 1968.

4. Ifamotion for impeachment of a judge is taken up
for voting, the law requires that the motion be sup-
ported by each House of Parliament and by a ma-
jority of the total membership of that House and
the total number of votes present and present in
that House of Parliament. Must be supported by at
least two-thirds of the voting members.

Which of the above statements is/are correct?

(a) 1and 2 (b) Only 3
(c)3and 4 (d)1,3and 4
Which of the following statements is not correct about

the Indian Judiciary?

(a) The Constitution of India does not provide for a
dual system of courts, like the United States.

(b) The organization of subordinate judiciary in India
varies slightly from state to state

(c) Every state in India has a separate High Court

(d) Supreme Court to bring uniformity in the designa-
tion of officers of criminal and civil side Instruc-
tions have been issued for the formation of Indian
Judicial Service

Which of the following extends the jurisdiction of a High
Court to or beyond a Union Territory?

(a) Parliament by law  (b) President of India
(c) Chief Justice of India

(d) The Legislature of the State in which the High Court
is situated

With reference to Lok Adalats, consider the following
statements:

1. An award made by a Lok Adalat is considered a
decree of a civil court and there is no appeal against
it in any court.

2. Marriage-related/family disputes are not included
in Lok Adalat.

Which of the above statements is/are correct?

(a)only 1 (b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2
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Rieip i Al s i

25.

[N}
(@)}

[\S}
~

[\
o0

(a) 1 and 4 (b)1and 2
(c)1,2and 3 (d)2,3and 4
. Consider the following statements regarding the removal

. Which of the following is/are part of the procedure for

. Consider the following statements regarding the origi-

Consider the following statements:

A High Court has jurisdiction over:

1. To punish for its contempt

2. Tender advice on legal question referred by the
President of India

3. Tenderadvice on legal question referred by the Gov-
ernor of the State

4. To issue certain writs for enforcing fundamental
rights or for other purposes

Which of the statements given above is correct?

of a Supreme Court judge.

1. Ajudge of the Supreme Court can be removed from
his post on the orders of the President.

2. The Judges Inquiry Act (1968) regulates the re-
moval of judges of the Supreme Court through the
impeachment process.

3. Theremoval motion for impeachment should be given
to the Speaker after being signed by 100 members in
the case of Lok Sabha and 50 members in the case of
Rajya Sabha.

Which of the above statements are correct?

(a) 1 and 3 only (b) 2 and 3 only

(c) 1 and 2 only (d)1,2and 3

the impeachment of a judge of the Supreme Court of

India?

1. The proposal must be made by at least 100 mem-
bers of the Lok Sabha or the State It is given to the
Speaker or Chairman with the signatures of at least
50 members of the House.

2. The proposal is examined by a committee of three
jurists constituted by the Speaker or Chairman.

3. If recommended by a committee of three jurists,
the judge will be removed by the Speaker or Chair-
man.

Select the correct answer using the code given
below:

(a)1,2and 3

(c)2 and 3 only

(d)only 1

(b) 1 and 2 only

nal jurisdiction of the Supreme Court:

1. The dispute should not involve questions related to
political issues.

2. No case filed by any private citizen against the
Central Government or the State Government will
be heard in the Supreme Court.
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29.

30.

31.

Sud ¥ ¥ RE-9/A wYT g /272

(a) ad 1 (b) A 2

(c) 1 3R 2 <= (a1 ERTE 2

FHicoaH Yomelt & aR § frefatad s | foer

X

. % OUE % U Afad g 9% TE =mneen &t
fgfth R TomiaRoT =t gomet 21

2. Hared <A HidTH & A 9Rd & qeA
=rEnedier wd € iR TEH FEeE & WR &
aftsqw =iy i e €

3. Weh I=d FECHE hiciiSFH 1 g 396 H&H
e R S TEeE % ) 3 afssad
e e B

W fGu T weml # W wH q/A T 2e?
(a) waet 1 3R 2 (b) et 2 3R 3
(c) waat 1 3R 3 (1,2 &3

IRd & Soadq e i TR i T 8g

FEYH 272

. SooaH e s el o Mg s ww
RA & TR =l ARG o J&F AR § foram-famst
T TSl B

2. IoAqH ATATeE S AT i had qRd & A
el gRI R S el 2

3., Irnefen w1 dad 9Rd i gfuad Y iy
B §, T8 W faumHUSs 1 7o 7 el & Bl
2l

4, NG & SeeH A ® SHEN AR HEIE i
Tt TRl WHR g R & G&A e °
forem-formst & v & w1 S €l

ITNF § A HA-91/0 HIT &t &/82
(a) 1 3R 3 (b) 3 3R 4
(c) Hae 4 (2,3 IR 4

qNd ¥ It & ey | frefanad § 9 SE-91

e HE ®?

. e8] 122 9 Uk g&A A SR um et
ST & WY gared e i TR TS
Ealill

3
:
:
!
1
i
:
|
4

e & a9 o gea =i 9 wme o S
K

Toh TS HROT Sl B

4, 9RA 1 Fered @ fquitien AR sl
o e SR 99E 9@ g6 2

(a) 1 3R 2 (b)2, 3 ¥R 4

(c) 1 3R 3 (d)ST® ¥ @ wh 9 efeeh

29.

30.

31.

Which of the above statements is/are true?

(a) Only 1 (b) Kanwal 2

(c) Both 1 and 2

(d) Neither. nor 2

Consider the following statements regarding collegium

system:

1. Itisasystem of appointment and transfer of judges
created by an Act of Parliament.

2. The Supreme Court Collegium is headed by the
Chief Justice of India and includes the four other
senior-most judges of the court.

3. A High Court collegium is headed by its Chief Jus-
tice and two other senior-most judges of that court.

Which of the statements given above is/are correct?

(a) Only 1 and 2 (b) Only 2 and 3

(c) Only 1 and 3 (d)1,2and 3

What are the provisions to protect the autonomy of the
Supreme Court of India?

1. While appointing the judges of the Supreme Court,
the President of India has to consult the Chief Jus-
tice of India.

2. Judges of the Supreme Court can be removed only
by the Chief Justice of India.

3. The salaries of judges are charged to the Consoli-
dated Fund of India, on which the Legislature does
not have to give its vote.

4. All appointments of officers and employees of the
Supreme Court of India are made by the Govern-
ment only after consultation with the Chief Justice
of India.

Which of the above statements is/are correct?

(a) 1 and 3 (b)3 and 4

(c) only 4 (d)2,3and 4

Which of the following statements is correct regarding
the Judiciary in India?

1. Article 122 provided for the establishment of the
Supreme Court with a Chief Justice and seven other
judges.

2. Incase of appointment of any judge other than the
Chief Justice, the Chief Justice is consulted.

3. Every judge of the Supreme Court holds office till
he attains the age of 65 years.

4. The Supreme Court of India is free from the con-
trol and influence of the legislature and the execu-
tive.

(a) 1and 2

(c) 1and 3

(d) More than one of the above

(b)2,3 and 4
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32,

33.

34,

35.

36.

frfafaa woml W fa=R wifse-

RA 1 IeaqH AT IR & T2ufd i fafy steran

el & fowl W weE 2

1. WU W (AUF dAlhfed & fwdt fawa o)

2. 9% 98 UE HE HoE Wi 2

3. haot A fawg ARER & Tt iRl @ T 7

IWIH HEA § F wA-A/A T R ?

(a) ®ad 1 (b) o 2

(c) Fad 3 (d)1 3R 2

= T ohed T T ® | T Wl A (A) AU TR

HROT (R) 81 741 81 57 S ahedl w1 ST e K gn

FHZ FH FgEd ¥ AU

HIT (A) : TRd H TAF T & [T H TH S=d

e faeEe B

WHIOT (R) : 9RA o Giae o qee 8 6 g

T T 3= e gl

e

(a) A IR Rl &1 € SR R, A o1 &l S0 @

(b) A IR 3 W& € W R, A T& T 7E €

(c) A¥El &, W R Tera @

(d) A Tord ®, T REE @

frfafaa seAl | f9eR sifse

. TEE 9Rd & Swaqq AECE i SATYHIRal i
foeaifa &1 X Gehell, Ak STh! TR &t
R o e e o

2. Ieudd FETeE AR S FEeEl % SAER 3R
Yo FIg §ed <P g (g fhe 5 € 3R
A 1 YRIHEeh & ARd @i §iad Y T
qifa g 21

ST &I A SE-A/A G T8 ?

(a) ®ad 1 (b) A 2

(c) T 192 (I 1332

frfafaa woAl W fa=R shifse-

. 9% | 25 S=d FEwE Bl

2. U, BRAON SR SEnidd Gey FUENG % Th
& gmfes =9 e 2

3. TSN TSUE 8 ool 1 @ 1 S=a =Eed Bl

IWIH HEA § F wA-A/A T R ?

(a) 293 (b)1 92

() 1,293 (d) ®aa 3

Hared A & <R & Hed § frafataa swemt

I fo=amr ifsa-

1. RH qU S F T ey w1 9 &9 86
=t ferfa o, Tegufa 3= e & fowdt =amneis
T Hated e H a5l =R & €9 7 fgE
HLT 2

32.

(98]
(98]

w
~

(98]
9]

(O8]
(@)

. Given below are two statements. One is called Asser-

. Consider the following statements

. Consider the following statements-

(a) 2 and 3 (b)1and 2
(c)1,2and3 (d)only 3
. Consider the following statements regarding the judges

Consider the following statements

The Supreme Court of India advises the President of

India on matters of law or fact

1. Onsuo motu (on any subject of wider public inter-
est)

2. If he asks for any such advice.

3. Only if the subject is related to the fundamental
rights of the citizens.

Which of the above statements is/are correct?
(a) Only 1 (b) Only 2
(c) Only 3 (d)land2

tion (A) and the other is called Reason (R). Select the

answer to these two statements with the help of the

code given below.

Assertion (A): A High Court exists in the territory of

every state in India.

Reason (R) : The Constitution of India provides that

every State should have a High Court.

Code :

(a) Both A and R are correct and R is the correct ex-
planation of A.

(b) Both A and R are correct, but T is not the correct
explanation of A.

(c) A iscorrect, but R is wrong

(d) Aiswrong, but R is correct

1. Parliament cannot expand the jurisdiction of the Su-
preme Court of India, because its jurisdiction is the
same as provided by the Constitution.

2. The officers and servants of the Supreme Court
and the High Courts are appointed by the respec-
tive Chief Justice and the administrative expenses
of the Court are charged on the Consolidated Fund
of India.

Which of the above statements is/are correct?

(a) only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

1. There are 25 High Courts in India.

2. Punjab, Haryana and Union Territory Chandigarh
have only one common High Court.

3. National Capital Territory of Delhi's own High Court

Which of the above statements is/are correct?

of the Supreme Court:

1. Incase the number of permanent judges is short of com-
pleting the quorum, the President appoints a judge of a
High Court as an ad-hoc judge of the Supreme Court.
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37.

38.

39.

40,

2. Hared e & =R & e Tseufa g|
W Sl B, Belh 8 AT AN IR % g
=qrneer 1 divd B

ST wmeA § ¥ SA-A/A wd 887
(a) ad 1 (b) A 2
(c) 1 3R 2 <= (I A1, T2

ARG Wfaum ¥ aged =l & e @@ aaee

7

(a) =49 = |

(b) e & T3 = o

(c) &% |

(d) S=uaaqq =ed |

TaTed <IEEE % ARERT ® U8 ¥ AW WM i

R & WY A SE-9/4 FUHE 9 220

1. 3% Uifed HEER A1 STIHYA & TR W E=T S
Hehall 21

2. BAW S 1 TS ARET H 50 IS A1 [T
T 50 O & TR & G & ST A A
i fean ST ek 2l

3. M WS H I UG WEH i | 95 W& H
3)-faeré sgHa gr wiRka g =nfedl

Wc\‘_

(a) ®aA 1

(b) ot 1 3R 2

(c) waat 1 3R 3

(d) 1,2 3R 3

STIaq <O & g9y ¥ fEfafed weE ) faEr

Hiferd-

1. Souaq FEed § e & 9% W Yie gg
AaH 3 55 99 B

2. A9 IR & T S SaElad i g 65
ELR

3. SeAqH A H ARNEiSn @i eAfuean Hen
(YT AR h BigH?) 33 B

SudE | ¥ hE-91/A RYT UE /27

(a) ael 1 3R 2

(b) o 2 3R 3

(c) 1,2 3R 3

(d) ST ¥ 9+ T

frefafiad § @ =9 @ woA @@ 7@l 82

(a) GUH HE G & HEe ol Fehell €.

(b) TH =9 <R WE T IET T Gehal 2

(c) TaT=a <A™ & f0ig f=e o=l ol are
H 2

(d) 3= = & ol T &t e sRTerdl i
e el W B

37.

38.

39.

40.

2. The judges of the Supreme Court are appointed by
the President, although he submits his resignation
to the Chief Justice of India.

Which of the above statements is/are correct?
(a) only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1, nor 2

There is a provision in the Indian Constitution for the
appointment of ad-hoc judges:

(a) In the High Court

(b) In the District and Sessions Court

(c) in Parliament

(d) in the Supreme Court

Which statement(s) is/are true regarding the process

of removal of judges of the Supreme Court?

1. They can be removed on the basis of proven
misbehavior or incompetence.

2. The proposal for removal can be given to the
Speaker or Chairman only with the signatures of
50 members in the Lok Sabha or 50 members in
the Rajya Sabha.

3. This proposal should be passed in both the Houses
by a two-thirds majority of the total number of
members of the House.

Code-

(a) only 1

(b) 1 and 2 only

(c) 1 and 3 only

(d)1,2and 3

Consider the following statements regarding the Su-

preme Court:

1. The minimum age for appointment to the post of
judge in the Supreme Court is 55 years.

2. Theretirement age of a Supreme Court judge is 65
years.

3. The maximum number of judges in the Supreme
Court (except the Chief Justice) is 33.

Which of the above statements is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c)1,2and 3

(d) None of the above

Which of the following statements is not correct?

(a) The Supreme Court itself can overturn the deci-
sion.

(b) A High Court can rule on itself.

(c) The decisions of the Supreme Court bind the lower
courts.

(d) The decisions of the High Court do not bind the
lower courts of the state.
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41,

42,

43,

44,

45,

IR o SeaH A o ed (A 1 Fel A §-

(a) .. fomr, &, TesTEaR, TE.AR. 9

(b) .. AAFVM, TL.TH. HUSAT, TH.TASY

(c) ISH TS, WA SO, ves fasn

(d) TA.TS. T, ST IERY, T fie TR

fr=fafeg werl ® fo=amr =

. 9Rd & GfouH § S=9 e B ArEEien &
sfuerae e fafde 7

2. U I RO & U 9} Sfererdl R =y
O (=1 TRl ol BIgH) W S7efero st
v 2, 990 3 S=a <A % STdeld SRR
& 3 B

0 U U wa § ¥ @ AR w98 282
(a) et | (b) Faa 2
(c) 1 3R 2 <= (dF 192

XA 1 IodqH R HEF A1 qeF & T |

Tl ) TRl & 8-

(a) 37T TEA W

(b) qft S o TH WL & fau e @

(c) Teft ST& A AR & HAyd SRR ¥ Trafad 8

(d) a¥ft ST RN < T Tkl AR T@USAl & fau
TR YT el @l

frfafad ol ® fo=am s

|. TEUA 9HIa 9ffd st Ru & SR o, =Ieme
I A EfFEE, 1971 WRa fwar = onl

2. 9Nd 1 GGy S=eaq =A@ AR 359 el
F, AT STEHAA & T € 37 =g, Ih TSH
Ll 2l

3. WRA W Higum fafad ofemE iR SNtk
AT I TR el B

4. 9IRG ¥, <A i STEHMA & {5 H S a7
% forg wue o vt ffed 2

SR HAEl W RA-AT/A T /87

(a) Faet | IR 2 (b) 1, 2 3N 4

(c) ael 3 3R 4 (d) Haat 3

IRdE e & Hed H, fEfafed e W

faar =ifsa-

I. 9RA % gUfd st qaigafd § 9Rd & & =R
BN S=aaH = § SaTga ferdt =mnedis i
JeaqH e & Y % g W e S
T B oAl S Gehell

2. 9Rd ® fedt f S=v =mEe ot fvla &
et st vtk W §, S foh Seea e
% T 2

Iudek woAl ¥ ¥ HA-ALA wE /82
(a) HaA 1 (b) Had 2
(c) 1 &R 2 <= (F @1 AT E 2

41.

42.

43.

44,

45.

The correct order of Chief Justice of the Supreme Court
of India is-

(a) B.P. Sinha, P.B. Gajendragadkar, S.R. Slave
(b) K.G. Balakrishnan, S.H. Kapadia, H.L.Datt
(c) Ranjan Gogoi, N.V.Raman, Deepak Mishra

(d) H.L. Dattu, T.S. Thakur, Jagdish Singh Khehar
Consider the following statements:

1. The Constitution of India specifies the maximum
number of judges in the High Court.

2. Every High Court has power of superintendence
over all courts and tribunals (except military tribu-
nals) provided they are subject to the appellate ju-
risdiction of the High Court.

Which of the statements given above is/are cor-
rect?

(a) only 1 (b) Only 2
(c) Both 1 and 2 (d) neither 1 nor 2

The Supreme Court of India advises the President on
matters of law or fact -

(a) onone's own initiative
(b) only when he asks for such advice

(c) Only when the matter is related to the fundamental
rights of the citizens

(d) Only when the matter poses a threat to the unity
and integrity of the country

Consider the following statements:

1. H.N. Pursuant to the Sanyal Committee report, the
Contempt of Courts Act, 1971 was passed.

2. The Constitution of India empowers the Supreme
Court and the High Courts to punish for contempt.

3. The Constitution of India defines civil contempt and
criminal contempt.

4. In India, Parliament is vested with the power to
make laws regarding contempt of court.

Which of the above statements is/are correct?

(a) Only 1 and 2 (b) 1,2 and 4

(c) Only 3 and 4 (d) Only 3

With reference to the Indian Judiciary, consider the fol-
lowing statements:

1. Aretired judge of the Supreme Court may be called
by the Chief Justice of India with the prior approval
of the President of India to sit and act as a judge of
the Supreme Court.

2. Any High Court in India has the power to review
its decision, as does the Supreme Court.

Which of the above statements is/are correct?
(a) Only 1 (b) Only 2
(c) Both 1 and 2 (d) Neither 1 nor 2
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46, 9T | =IEAIerRl ® 9R § Trefeiead § 9 wiE w8 o 46. Which of the following statements is/are correct about

47.

48.

49,

50.

U T B/E?

1. g Ved & fauwlld, 9Rd ¥ 36l —=mEed
el 1 WEHH e 2

2. 9Rd & a9 & 37F, T uF T & fod Tehe
Tehighd =TI Saee B

3. SR AIUIfetehl & GeA H STerT-3Ter Tl §
Bkl A B

ot fe T Te & uE W WE S g

(a) Fad | (b) e 1 3R 2

(c) 1,2 3R 3 (d) et 2 3R 3

IRA & Halied A 1 WHRRE STHaR ¥ 9@

g ® fF =

(a) HESIME HE@ @ HIA A1 qLACHSe HIHCH H
T o e ? Hehel B

(b) Toft Tornfier HTHel § A TR w1 Gt < ekl 2

(c) Tafeer wmetl o gea= ® WHY ¥ FWehdl B

(d) Sw @il SAfhal sl TEel < Wehdl 2

frefafgd & 9 =9 o e 9 & 359 =EeE w5

q&A eR 872

1. A &R 2. ST &ERR
3. wdel eI 4, FATEHR &ATIHR
(a) 1,2 3R 3 (b)2, 3 3N 4

(c) 1,3 &N 4 (1, 2 R 4
frfafaa worl W faur Sifsy

1. %% =afte oA fod S== =EeE & wE
SMEY ® €9 § IX GRT a1 21 S=aaH =
& Afaie 9Ra # fdl =mmeE =0 fedr mivert
% gHel AMTE=E a1 HE &l HL Hehdl

2. hig A, TG & [hdl =0 =™ o R
% &9 o Fgie = forg eifda =721 8, afg S&9 9ra
& T O3 H HY-9-%A U 98 qeh Mgs I
oRoT el TR

IUNF HIA § W RA-G/F HIAT el §/872

(a) HadA 1 (b) Had 2

(c) 1 3R 2 (T &1 R A2

frafafaa woAl ® fa=r =it

. 995 9Rd & IoUaH A ohi AR
foreamiia =&t X Wendl, Ik STah! AR
2, S "fgum 3 9gH & 2

0. ITHAH AEIOR SR 34 AR % S 3K
Yo g §ed < g g fhe o € &R
AT 1 WRIEHe &9 9Rd ol Gfed [y ™
i el B

ST wYEl § ¥ HA-H1/A HAT G 2/27?

(a) ®ad 1 (b) A 2

(c) 1 3R 2 (&1 AR 2

Eal
EH]

47.

48.

49.

50. Consider the following statements

the Judiciary in India?

1. Unlike the United States, India does not have a
dual court system.

2. Under the Constitution of India, there is a single
unified court system for the Union and the States.

3. There is slight variation in the organization of the
subordinate judiciary in different states.

Select the correct answer using the code given

below:
(a)only 1 (b) 1 and 2 only
(c)1,2and 3 (d) 2 and 3 only

The Supreme Court of India exercises advisory power
to

(a) May advise the President on legal or factual mat-
ters of public importance.

(b) Can advise the Government of India on all consti-
tutional matters.

(c) Can advise the Prime Minister in legal matters.

(d) Can give advice to all the above mentioned per-
sons.

Which of the following is the principal jurisdiction of

the High Court of a State?

1. Original Jurisdiction 2. Appellate Jurisdiction

3. Supervisory jurisdiction

4. Advisory Jurisdiction

Select the correct answer from the codes given

below:
(@) 1,2 and 3 (b)2,3 and 4
(c)1,3 and 4 (d)1,2and 4

Consider the following statements

1. A person who has held office as a permanent Judge
of a High Court. Cannot plead or act before any
court or authority in India other than the Supreme
Court.

2. No person is qualified for appointment as a Judge
of a High Court in India unless he has held judicial
office for not less than five years in the territory of
India.

Which of the above statements is/are correct?

(a) Only 1 (b) Only 2

(c)land 2 (d) Neither 1 nor 2

1. Parliament cannot expand the jurisdiction of the Su-
preme Court of India, because its jurisdiction is the
same as provided by the Constitution.

2. The officers and servants of the Supreme Court
and the High Courts are appointed by the respec-
tive Chief Justice and the administrative expenses
of the Court are charged on the Consolidated Fund
of India.

Which of the above statements is/are correct?

(a)only 1 (b) only 2

(c) 1and 2 (d) Neither 1 nor 2
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51.

52.

53.

54.

5S.

frefafed weAl | faer =1

I HTede gd & yeheHed W SR ST ¥

2. & SIEUE & A Bl O H TR ®I H FHbIC
¥ & w9 H fR@E 29 7

3. o geall g WK WX ScuTed Wi S=eeRl geal W
SoTaTg 1 FHTEd s Wehdl €1 e T T g

WWH@W?
(a) o | (b) Fae 2 3R 3
(c) Tl 1 3R 3 (d) SR Gt
fr=fafeg weml ® fo=ar =

. - & 9 ot e W s i Sl shifetferE
o1 39 SHT YR fasifyd e € 9 @@ gl i
foeifia = 2

2. wIRSHfew a@ geaa: gd & 9 SR geal @i
iR § I Bl B

= QU U Fie H ST Hh Tl S| g

(a) el 1 (b) Fe 2
(c) 1 3R 2 <= (d) ST | § HIE T&
T sEe @ e

1. geat I B aTell U dee, fo8 g R ¥ ydw
YN T = SAEd s qoam arel T &
e g1 it feman e R

2. STHAR R YA 1@ G gl <faror H Hergide et
1 A T S 2l

ST § ¥ & 9/8 ®F 98§ / 87
(a) I 1 (b) Haa 2
(c) 1 3R 2 <+ (d) SRIE o & g T&l

gedt W &A1 3R Ta ot ety f & s uiafda =

g Bidt B

I. gedt w1 @3fig gehre R GF & WR SR gHeR!
afihRAl

2. goF 38R

3. geAl % aTgHed 5 YR 1 ST9ekd el KU T
HIE H ITAM Hieh Tt W TA:

(a) Hael 1 3R 3 (c) ®aa |

(b) Taet 2 3R 3 (d) SR Gt

frfafad wel W fa=r &1

TR (A): Yol W aHSA § Wifehd =gHl T &l

2l

HIUT (R ): oot & foodia, =isan ) T A ey

qel o HRU] THY 9 TRl &1 STIh FUAl & ged ),

frefefea & o =@ @ & ® ?

(a) AR R <l @cd & 3R R, Al &l Tasientul
2l

(b) AR R & € 3R R, AshT TET Tasaientol -Tef
2l

(c) Ao €, eifehd R w&t ©

(d) AEE 2, @feh R 7T 2|

51.

W
[\

9,
w

W
a

W
W

. Consider the following statements:

. The thermal equator is:

(a) 1only (b) Both 1 and 2
(c) 2only (d) None of the above
. Duration of day and night on Earth is objartered or

. Consider the following statements:

Consider the following statements:

1. Sunspots are temporary phenomena on the
photosphere of Sun.

2. They appear visibly as bright spots compared to
surrounding regions.

3. They may affect the climate on Earth by changing
the solar output received by Earth.

Select the correct answer using the codes given below:

(b) 2 and 3 only

(d) All of the above

(a) 1only
(c) 1and3 only

1. Coriolis force acting on the fluid in river water
deflects it like it deflects the wind.

2. Coriolis force is generated mainly by the revolution
of Earth around Sun.

Select the correct answer using the codes given below:
(b) 2only
(d) None of the above

(a) 1only
(c) Both 1 and 2

1. Abelt encircling Earth defined by the set of locations
having the highest mean annual temperature at each
longitude around the globe.

2. Usually found slightly south of equator towards the
continental zones.

Which of the above statements is/are correct?

affected due to:

1. Axial tilt of Earth and its revolution around the Sun
2. Polar bulge

3. Refraction of light by the atmosphere of Earth
Select the correct answer using the codes given below:
(a) 1and 3 only (b) 1only

(c) 2and 3 only (d) All of the above

Assertion (a): Earth has an atmosphere but Moon

does not.

Reason (R): Unlike on Earth, the gases on Moon can

escape it because of its low gravitation force.

In the context of the statements above, which of the

following is true?

(a) Both A and R are true and R is the correct
explanation of A.

(b) Both A and R are true and R is not the correct
explanation of A.

(c) A isincorrect, but R is correct.

(d) A iscorrect, but R is incorrect.
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. Consider the following statements about the 'Ring of

. 1. Atmosphere has more freshwater than all surface

. Consider the following statements regarding

. Earth's atmosphere consists of several layers. Consider

With reference to Plate tectonics, consider the following

statements:

1. It is the theory that Earth's outer shell is divided
into several plates that glide over the mantle.

2. Itis another name for the theory of continental drift.

3. It discards the conventional geological view that
there is convectional current flowing in the mantle.

Select the correct answer using the codes given below:

(a) lonly (b)3 only

(c) 2and 3 only (d) 1and 3 only

Fire":
1. The basin lies primarily in the Atlantic Ocean.

2. Tt is shaped like a horseshoe with a nearly
continuous series of oceanic and volcanic trenches.

3. Itis home to over three-fourths of the world's active
and dormant volcanoes.

Select the correct answer using the codes given below:
(a) 1and 3 only (b) 2 and 3 only
(c) lonly (d) 1,2 and 3

rivers on Earth.

2. River freshwater is in more quantity than the
groundwater.

3. Thecombined quantity of freshwater in lakes, rivers
and groundwater is more than that stored in polar
ice caps.

4. The average salinity of the oceans is 40 parts per
thousand.

Which of the above statements is/are correct?

(a) 2 and 4 only (b) 3only

(c) 4only (d) None of the above

stratosphere:

1. One important feature of the stratosphere is that it
contains the ozone layer.

2. Inthis layer, the International Space Station orbits
Earth.

3. Inthis layer, jet aircraft and weather balloons fly.

Which of the above statements is/are correct?

(a) 1and?2 only (b) 1and 3 only

(c) 2 and 3 only (d) 1,2and 3

the following statements with reference to it:
Assertion (a): Troposphere is the hottest layer of the
atmosphere.

Reason (R): It gets more heat radiation from below
Earth's surface, as compared to other atmospheric
layers.
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In the context of the above, which of the following

statements is correct?

(a) Adis correct, and R is an appropriate explanation of A.

(b) Ais correct, but R is not an appropriate explanation of A.

(c) A iscorrect, but R is incorrect.

(d) A isincorrect and R is correct.

Consider the following statements on atmosphere:

1. An important feature of stratosphere is that it
contains a layer of ozone gas.

2. Meteorites burn up in mesosphere on entering from
the space.

3. Almostall the weather phenomena like rainfall, fog
and hailstorm occur in troposphere.

Which of the above statements is/are correct?

(a) 1and2 only (c) 3only

(b) 2 and 3 only (d) All of the above

Consider the following statements:

1. The mid-day sun is exactly overhead at least once
a year on all latitudes in between the Tropic of
Cancer and the Tropic of Capricorn.

2. The mid-day sun never shines overhead on any
latitude beyond the Tropic of Cancer and the Tropic

of Capricorn.
Select the correct answer using the codes given below:
(a) 1only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

Which of the following winds is/are hot winds?
1. Chinook 2. Foehn
3. Mistral 4. Siroco

Select the correct answer using the codes given below:

(a) 1,2 and 3 only (b) 2,3 and 4 only

(c) 1,2 and 4 only (d) 1,2,3and 4

Albedo is a critical factor in determining the warming

of atmosphere via indirect radiation. Which among the

following materials is likely to have the lowest albedo ?

(a) Thick cloud (b) Fresh snow in Antarctica

(c) Moist ploughed soil (d) Mirror

Which among the following has the highest Albedo?

(a) Lithosphere (b) Atmosphere

(c) Cryosphere (d) Hydrosphere

Out of the total solar insolation that reaches Earth's

surface, most is used by plants for

(a) Respiration (b) Photosynthesis

(c) Storage

(d) Movement of minerals and fluids

Consider the following statements:

The lapse rate usually is more in winter than in summer.

1. Inhilly areas, a hot day, followed by calm, cloudless
night, acts as favourable

2. Condition for the phenomenon of temperature
inversion.
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3. Ifthe moist air ascends rapidly to the cooler layers
of the atmosphere, the water droplets freeze into
ice pellets and fall to Earth as hail.

Which of the statements given above is/are correct?
(a) 1and2 only (b) 3only

(c) 2and 3 only (d) 1,2and 3

Which of the following are the ideal situation for
inversion of temperature ?

1. Alongwinternight 2. Cloudy skies

3. Stillair

Which of the above statements is/are correct?

(a) 1and2 only (b) 1and 3 only

(c) 2 and 3 only (d) 1,2and 3

Which of'the following is/are the effects of temperature
inversion ?

1. Good air quality
3. Thunderstorm prevention

2. Cloud formations

4. Trapping of smog
Select the correct answer using the codes given below:

(a) 2,3,4 (b) 1,2,4
(¢) 1,2,3 (d) 1,3,4
Which of the following is/are the major source regions

of air masses?

1. Warm tropical and subtropical oceans

2. Subtropical hot deserts

3. Relatively cold high latitude oceans

Which of the statements given above is/are correct?

(a) 1and?2 only (b) 1and3 only

(c) 2and 3 only (d) 1,2and 3

Consider the following statements:

1. The air pressure is highest at sea level and
decreases with height.

2. Low air pressure is generally associated with cloudy
skies and wet weather.

Which of the above statements is/are correct?

(a) 1only (b) 2only

(c) Both 1 and 2 (d) None of the above

Air closer to Earth's surface is heavier because of

(a) Gravitational forces acting on air

(b) Jet air circulation in upper atmosphere

(c) Cloudiness near equator and poles

(d) Higher air pressure in stratosphere

Consider the following statements regarding Inter

Tropical Convergence Zone (ITCZ):

1. It is a high-pressure zone located at the equator
where trade winds converge.

2. In July, this zone encourages the development of
thermal low over north and northwest India.
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Which of the above statements is/are correct?

(a) 1only (b) 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

If two places on a map fall on the same isochrone line,
it implies that

(a) They are situated at similar magnetic latitude.

(b) They are located on similar terrains.

(c) They take equal amount of time to reach from a
particular location.

(d) They experience the same weather conditions at
the same time in a year.

Consider the following statements regarding sea

breezes:

1. Itoccurs during night time.

2. The pressure gradient from sea to land is created
which results in sea breeze.

Which of the above statements is/are correct?

(a) 1only (b) 2only

(c) Both 1 and2 (d) Neither 1 nor 2

Coriolis force plays a role in which of the following?
1. Formation of meanders

2. Direction of trade winds

3. Directing jet streams

4. Impact crater

Select the correct answer using the codes given below:
(a) 1,2 and 4 only (d) 1,2 and 3 only

(c) 3only (d) 2,3 only

Which of the following are hot local winds?

1. Chinook

3. Norwester

2. Harmattan

4. Bora

Select the correct answer using the codes given below:
(a) 1,2 and 3 only (b) 2,3 and 4 only

(c) 1,2 and 4 only (d) 1,3 and 4 only

Consider the following statements regarding trade winds:
1. The trade winds are those blowing from the

equatorial low-pressure belt towards the sub-tropical
high-pressure areas.

2. These are confined to a region between 30°N and
30°S throughout Earth's surface.

Which of the statements given above is/are correct?
(a) 1only (b) 2only
(c) Both 1 and 2 (d) Neither 1 nor 2

Identify the correct wind patterns that occur around
the globe:

1. Polar westerlies

2. North-west trade winds

3. South-east trade winds

Which of the above are permanent winds ?
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(a) lonly (b) 2 and 3 only

(c) 3only (d) None of the above
Which of the following is not correctly matched ?
Local winds Origin

(a) Zonda Alps

(b) Loo Aravallis

(c) Chinook Rockies

(d) Bora Adriatic Sea

Which of the following local winds is an example for

cold wind?

(a) Chinook (b) Mistral

(c) Santa Ana (d) Khamsin

Consider the following statements about sand and dust

storms across the world:

1. They can travel thousands of kilometres across
continents and oceans.

2. Chronic exposure to fine dust contributes to
premature deaths from respiratory cardiovascular
diseases. and

3. Deforestation and unsustainable agricultural
practices such as excessive withdrawal of water
from water bodies can lead to sand and dust storms.

Select the correct answer using the codes given below:

(a) 2only (b) 1and3 only

(c) 2 and 3 only (d) All of the above

Known to sailors around the world as the 'doldrums',

these

1. Exist at the edge of the tropics.

2. Arealso known as the Inter-Tropical Convergence
Zone.

3. Are popular for high wind speeds throughout the

year.
Select the correct answer using the codes given below:
(a) 1only (b) 2only

(c) 1and3 only (d) 2 and 3 only
Katabatic winds occur due to
(a) Density differences in wind at different altitudes

(b) Differential warming of the ocean surface near
coasts

(c) Local thunderstorms guided by high convection
rates

(d) Seasonal land breeze in the interior of continents
Consider the following statements:

1. Westerlies originate in the horse latitudes and move
towards the poles.

Westerlies move from west to east.

3. Westerlies are strong in the Northern Hemisphere
and weakest in the Southern Hemisphere.
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. Coastal places like Kolkata and Mumbai experience a

Which of the above statements is/are correct?
(a) 1and2 only (b) 2and 3 only
(c) 1and3 only (d) All of the above

The Roaring Forties are strong westerly winds found
in the Southern Hemisphere.

They are caused due to

1. Air being displaced from the Equator towards the
South Pole

2. Earth's rotation

3. Equatorial counter-currents

4. Thermal dipole created in the Pacific Ocean
Select the correct answer using the codes given below:
(a) 3 and 4 only (b) 2 and 3 only

(c) 1 and 2 only (d) All of the above

Which of the following factors affects the generation
and flow of Equatorial Westerlies?

1. Movement of Inter-tropical convergence zone
2. Coriolis force caused due to rotation of Earth
Which of the above statements is/are correct?

(a) 1only (b) 2only

(c) Both 1 and 2 (d) None of the above

Which of the following factors is not connected with
the planetary wind system ?

(a) Latitudinal variation of solar insolation and heating
(b) Earth's rotation on its axis

(c) Migration of the pressure belts due to apparent path
of Sun

(d) All ofthe above connected with the planetary wind
system

Consider the following statements:

1. Wind will strike your back and continue to the sea
if you are sitting on the beach facing the sea on a
sunny afternoon.

2. Wind will strike your face and continue to the sea
if you are sitting on the beach with your back facing
the sea on cold night.

Which of the above statements is/are correct?

(b) 2only

(d) None of the above

(a) 1only
(c) Both 1and 2

humid and moderate weather. Why?

(a) Due to their continentality

(b) Due to the flowing of sea and land breezes

(c) Due to their low elevation as compared to nearby
regions

(d) Due to the less frequency of eastern cyclonic
disturbances.
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+ 91. Which of the following is the correct sequence of water
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95.
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in the order of decreasing existence on Earth?

(a) Ocean, lakes, atmosphere , groundwater,

(b) Icecaps and glaciers, groundwater, ocean,
atmosphere

(c) Ocean, icecaps and glaciers, ground water, lakes

(d) Groundwater, icecaps and glaciers, lakes,
atmosphere

Consider the following statements:

Assertion (a): Warmer air will always have more

moisture than cooler air.

Reason (R): The capacity of air to hold moisture in

the form of water vapour is related to air temperature.

In the context of the above, which of the following is

correct?

(a) Ais correct, and R is an appropriate explanation of
A.

(b) Adiscorrect, but R is not an appropriate explanation
of A.

(c) A iscorrect, but R is incorrect.

(d) A isincorrect, but R is correct.

Rain clouds appear black in colour despite having Sun

above them because

1. Clouds accumulate electrostatic charge.

2. Rain-bearing clouds absorb most of the solar
insolation falling on them.

3. Clouds scatter light received by them. Select the
correct answer using the codes given below:

(a) 1only (b) 1and2 only

(c) 1and3 only (d) 3only

Rainfall is more over the oceans than on the landmasses

of the world because

(a) Oceans receive larger solar insolation per unit area
than land.

(b) Ocean water is salty.

(c) Oceans are huge sources of water as compared to
land.

(d) Frequent cyclones occur over the oceans as
compared to land.

Consider the following statements:

1. In orographic, rain is formed when moist air is
forced to ascend over a mountain barrier.

2. On the leeward side of a mountain, descending air
is compressed and hence humidity decreases.

3. On the rain shadow area of a mountain, rainfall
will be less.

Which of the above statements is/are correct?

(a) 1and2 only (b) 2 and 3 only

(c) 1and 3 only (d) All of the above

Consider the following statements regarding

extratropical cyclone and tropical cyclone:

1. The extratropical cyclones have a clear frontal
system which is not present in the tropical cyclones.

2. The extratropical cyclones cover a larger area and

can originate only over the seas.
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3. The extratropical cyclones move from west to east
but tropical cyclones move from east to west.

Which of the statements given above is/are correct?

(a) 1and2 only (b) 1and 3 only

(c) 2 and 3 only (d) 1,2and 3

Consider the following about Anticyclones:

1. These are low-pressure regions.

2. Their extent is always small.

3. Cloudy and precipitation conditions exist along with
the cyclone.

Select the correct answer using the codes given below:

(a) 1and2 only (b) 2only

(c) 3only (d) All of the above

Consider the following statements:

1. Tropical storms bring rain, while extra- tropical
storms do not.

2. Extra-tropical storms are caused due to jet streams,
whereas tropical cyclone is caused due to lower
atmospheric circulations.

Which of the above statements is/are correct?

(a) 1only (b) 2only

(c) Both 1 and 2 (d) None of the above

Thunderstorms are formed because of

(a) Intense convection on moist hot days

(b) Meeting of warm and cold fronts

(c) Induction by low-pressure cyclones

(d) None of the above

During a thunderstorm, consider the following actions:

1. Staying in an open field near large trees

2. Staying inside a car with all windows closed

3. Driving a motorbike

Which of the following is/are safe choices?

(2) 1and?2 only (b) 2 and 3 only

(c) 1 and 3 only (d) 2only
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